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Visual Servoing System
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Cross_x . 258
cross_y : 218

lazer_x : 264
lazer_y : 216

error - 5
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C++

CAM

a8 Al2lY e UE X
_send |
Detector Data Receive Data Send Data
cross x : 354 x,y = [3098, 3211] x3095/y3211/ A
cross y : 209 xy = [3097, 3211] x3094/y3210/
xy = [3095, 3211] x3093/y3210/
laser x : 356 X,y = [3093, 3210] x3092/y3210/
laser y : 206 xy = [3091, 3210] x3091/y3210/
x,y = [3090, 3210] x3091/y3210/
error ;. 3 x,y = [3088, 3210] x3090/y3210/
x,y = [3086, 3209] x3089/y3210/
X,y = [3084, 3209] x3088/y3210/
x,y = [3083, 3209] x3087/y3210/
CDS = 64 x3086/y3209/
CDS = 64 Xx3085/y3209/
CDS = 64 x3084/y3209/
CDS =64 x3083/y3209/
CDS =64 x3083/y3209/
v
Port |com3 L] Baudrate |500000 ;l Disconnect Clear
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reference signal

Kp=1 Ki=1 Kd=1
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FPSH| 1 _Python

Cross_x : 259
cross_y - 218

lazer_x : 262
lazer_y - 217

error - 2

Python AVG : 16(fps)



FPSH| W C++

CAM

C++ AVG : 29(fps)

oS AlZZRUE
Send

Detecter Data Receive Data Send Data

cross x : 0 CDS = 64 x3000/y3000/

crossy: 0 x,y = [3000, 3000]

laser x : 0

lasery : 0

error: 0
Port |com3 | Baudrate [500000 =l Disconnect Clear
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HEkESS(S/W 30% + H/W 10% + PPT % UCC 10%) : 50%

AZE(S/W 10% + H/W 30% + PPT S UCC 10%) : 50%
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